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o 8,698,000
= 9,757,802
ofd 22l 998,802 929,680 69, 122
otE KXl &2l 938,802 869,680 69, 122
201 et 7,092 7,880 ANT788
01 AP 2t 2] H| 6,228 6,920 A B692
O otz S8EE =X otEd no 4,500
O oldER=& EZ20HAHl 8,000 x4H »54! 1,728
02 B232%H| 864 960 A 96
O XNE6tE SIEAEZE M2
8 A~ +9,000& x12& 864
202 044l 1,710 1,800 A 90
01 2L Hl 1,710 1,800 A 90
O ota2e Rz ?s &AL 1,710
401 Al HI L E0HHI 930,000 860,000 70,000
01 Al&HI 730,000 550,000 180,000
O NegsldE X2l 10,000,000 5004 2~ 500,000
O it ol A H| 60,000,000 10 A 60,000
O Dz MEjotd | X2l
10,000, 000& *5km 50,000
O Xleotd =4&AIY 20,000,000 x50 &~ 100,000
O XNold AME2 22 AIAE 25
10,000,000%204 2~ 20,000
03 AlIE 201 Y| 200,000 310,000 A 110,000
O ol otad=4L HHI2RES
20,000,000 *10km 200,000
OLE (HAE)EX 22 AEHEAI 24 60,000 60,000 0
401 AlEHIZL 2 0HY| 60,000 60,000 0
01 Al&H| 60,000 60,000 0
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01 A& HI 2,989,200 755,212 2,233,988
O Z2gA XNLotd HUIAY 2,989,200
= 2,100,000
[ia 889,200
03 Al =2 THHI 10,800 4,788 6,012
O A2 3,000,000,000& *0.36% 10,800
FAUA Kot (MBAY) 3,165,000 3,680,000 A 515,000
< 2,265,000
s 900,000
401 Al Bl & 28I 3,165,000 3,680,000 A 515,000
< 2,265,000
s 900,000
01 A& HI 3,154,000 3,670,064 A 516,064
O F=8& XYotd FHIA 3,154,000
< 2,265,000
s 889,000
03 AIE 2 0H bl 11,000 9,936 1,064
O AM&20YI 11,000
2RSS T ALY (H2AY) 1,000,000 600,000 400,000
< 700,000
s 300,000
401 AIEHIZ 28I 1,000,000 600,000 400,000
< 700,000
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01 A& tl 993,700 596,220 397,480
O Z2Ed Xgotd HHIAY 993,700
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= 293,700
03 AIE 2 0H bl 6,300 3,780 2,520
O AIZ20Hhl 1,000,000, 000& *0.63% 6,300
CESLSIEHE A (M EAFY) 1,000,000 800,000 200,000
< 700,000
s 300,000
401 AIEHIZ 28I 1,000,000 800,000 200,000
= 700,000
s 300,000
01 A& Hl 993,700 794,960 198,740
O =& Xgotd HHIAY 993,700
< 700,000
= 293,700
03 AIE 2 0HHI 6,300 5,040 1,260
O A& 1,000,000,000& *0.63% 6,300
A XNFotd ME{otdE SRAALY (MSALY) 500,000 0 500,000
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401 Al HIZ 201 Y| 500,000 0 500,000
= 250,000
s 250,000
01 A& HI 496,400 0 496,400
O =& XNFotd MEHOIE SHAS 496,400
< 250,000
s 246,400
03 A& =TI 3,600 0 3,600
O A&20YI 3,600
Aotd El 3,826,000 4,048,000 A 222,000
ACHEEHI (HEALY) 3,826,000 4,048,000 A 222,000
401 AIEHIZL 20 3,826,000 4,048,000 A 222,000
01 A& Hl 3,805,194 4,032,089 N 226,895
O 2408 FHAY 902,280
O 2340d HHAY 891,349
O g3A0td HHAEY 1,415,885
O HYAGHE FHAY 297,840
O SY40td ALY 297,840
03 AlE 2 THHI 20,806 15,911 4,895
O #2403 FUIAY AIE20UHI 5,720
O =240t ZFHAY AER0Ub] 5,651
O E3A0td HUIAY AIER0UHI 5,115
O HYAGHE ZHIALY AER0Y] 2,160
O 8940t JHIAME AU 2,160
2 YAs HHHESs" 2st 165,783 108,550 57,233
= 8,000
< 31,600
s 126,183
BE YMs B 2 FUES XX Zet 165,783 108,550 57,233
= 8,000
< 31,600
s 126,183
2 EAs B @R F=H 33,783 28,030 5,753
201 Yet2 | 24,121 23,030 1,091
01 At 22l 21,633 19,880 1,753
O Jdetd HSOH =L M=E 30,0008 1455 4,350
O 734 eHHEXE &X] 363,000*11JH £ 3,993
O JEYR A SZ20HAHI
8,000& x3H 60 1,440
O &8ZX tHEX= AX 45,000 *7804 & 3,510
O gMus WM M= 2,500& #4002 1,000
O HAsSEMNEH BUE =2 X2 3,100
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O o235 =& 4,240
-&d @9 M 60,0003 = 180H 1,080
-2d EE2 MF 1,000& *360= 360
—2MXE Y= 300, 0002 *6H 1,800
—-2d g gt 800
- MESHE WAHMH 2 5003 400 200
02 =24l 2,488 3,150 A 662
O ZAs 4EHEIRALAEH SRS
196,083& =128 2,353
O dsling &8 RERS 2,700 508 135
202 Odl 6,422 5,000 1,422
01 = LH o4 1l 6,422 5,000 1,422
O 2% YMs IR =& bl 6,422
301 LeEBAF 3,240 0 3,240
09 #HALAHIXI& 3 1,080 0 1,080
O &Hus AL Ad 24
3,000 20 183 1,080
12JE243 2,160 0 2,160
O &Hus ZA=s=E 120,000& » 1 x 183 2,160
SIUAM HIAUH LAS ZAIFH 25 94,000 50,000 44,000
< 31,600
s 62,400
405 XHobF S HI 94,000 0 94,000
< 31,600
s 62,400
01 At EZFH S 94,000 0 94,000
O &4 AN HIAHE LAs Z2AEH 2E(2
& 2 AIDID) 30,000,000 =2CH 60,000
< 18,000
s 42,000
O SHLJA HIAUH ZAMSEI XNJAY 34,000
- & A 1,300,000& »20CH 26,000
< 10,400
s 15,600
-=Z)| 4,000,000 »2CH 8,000
< 3,200
[ia 4,800
FoEs=d XA 8,000 8,000 0
= 8,000
201 Let24E] 8,000 8,000 0
= 8,000
01 At 22l 8,000 8,000 0
O YAMsE F2E25=d 8,000,000 13| 8,000
= 8,000
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el AM YAS U ¥ FoE5 XX B (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
gAML ZESel0l £X 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& Bl 30,000 0 30,000
O e3dgAed d2elil X
15,000, 000& »2CH 30,000
HWees 205,586 189,709 15,877
HEAHHKI= 205,586 189,709 15,877
LHEHel XI= 205,586 189,709 15,877
702 JISdES 205,586 189,709 15,877
(RPIE=RSE—= 205,586 189,709 15,877
O Me2&edls 882
61,675,764,570& +1/3%1/100 205,586
HE2HZ (XA D) 25,385 27,968 AN2,583
Jl23 4l 25,385 27,968 AN2,583
2AHd J1=ZH| 25,385 27,968 AN2,583
201 £B-2dH| 18,050 20,468 A2,418
01 At 2t 2l 13,300 14,818 N 1,518
O BAHAII23H 2949 13,300
02 23=2gHl 4,750 5,650 A 900
O 2h2Y2 98 28 250
O &2Exg |l 4,500,000 = 1CH 4,500
202 oddl 3,135 3,300 A 165
01 = LH o4 1l 3,135 3,300 A 165
O 2NIIZY? +82 918 X0 3,135
203 P2 E= Y| 4,200 4,200 0
04 FANSEHE=LH 4,200 4,200 0
O BA2EYR=2 350,000& »12& 4,200




